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Table 5-2-1 Specific heats of some gases (at 15°C and I atm)*

Gas Symbol cv ¥ ¥
(experimental) (experimental) (compuled by (5-2-9))
(joules mole™
deg™)
Sefum He 12.5 1.666 1.666
Azgon Ar 12.5 1.666 1.666
S=rogen N, 20.6 1.405 1.407
Oxygen 0, 21.1 1.396 1.397
Carbon dioxide CO. 28.2 1.302 1.298
Eshane C.Hs 39.3 1.220 1.214

* Experimental values taken from J. R. Partington and W. G. Shilling, “The Specific
Heats of Gases,” p. 201, Benn, London, 1924.
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Fig. 5:12:1 A real refrigerator. Fig. 5-12+2 A perfect refrigerator.
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